









#6
Mgmt 380

Assignment #4
30 points

DUE:  Tuesday, October 17
You may work on this in teams of two, if you wish.
Examine the problem on the first page of exam I.
Create a linear programming model.

Solve the model with the software method (using STORM).  Run:
- the optimal solution

- the sensitivity analysis
- the parametric analysis on all the constraints

Report the following in clearly marked sections:

(1)  Optimal solution 
(2)  Shadow prices
(3)  Slack/surplus values
(4)  Get It Now is thinking about raising the pay of the temporary operators to $50.  Explain the effect this will have.
(5)  Get It Now is thinking about raising the pay of the permanent operators to $70.  Explain the effect this will have.
(6)  Get It Now is thinking about raising the orders it processes to 620 per day.  Explain the effect this will have.
(7)  Get It Now is thinking about decreasing the number of workstations to 27.  Explain the effect this will have.

(8)  Get It Now is thinking about increasing its limit on the number of orders with errors to 30 per day.  Explain the effect this will have.
Write the memo.  Attach the linear programming model, STORM printout and any other attachments you feel are appropriate.
As always, follow all the instructions on Handout #1.

